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Preblem 131 Check the fundamental theorem for gradients, using 7 = x2 +4xy + 2yz3, the L" Z,
points & = (0,0,0), b == (1, 1, 1), and the three paths in Fig. 1.28:
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Problem 1.33 Test Stokes’ dlemunfmthefuncﬁonv— & ..
‘ Irhngu!ushadedmofﬁg 134 (x’)‘+(2yz)i+(3:x):,usmgm

e i - gf U Sces s

TERRY R e P,

3]
" Pa:fk 7
S o 2 1 5{ -2-»
d290 (VD 27 -4+2 @) dr=o0
.} -0 / | X =6 ﬁ:
Gy = ¥

X d}#o,* =2=0

ﬁ?'dﬁ = /v, dx +/v”/«¢ + Nz ds

o whort pmuwf pdm‘)wm?/

T e T VU W

;,- fH
-_-/Z'% Oy + /52?( dz 4/2%27&/?‘ :
(ry) v iy, (,‘,j l %
~ 22ty 22] oyl |
£ l

]

:z(%-é—)u ~2( ot [0-5])
2 (5-%5): 5(4) =5/

e

o

vz | s « 3 }?/?Q X2 " &2ZF2)
K Ly % ~§ (oudz 5 ny ) i

Xg  Iyr  Ixx +3 (&2 213 avAL ";i) li

g |

-v_’”?- Q(O 2?) '(3 3*“’)* 3(0 T :‘23,;- ;A-X;
do = X C(o\ d> .;
ﬂg Wv) dm -ﬁ/‘?’v) J#G"‘F //Zic/m/z //ig/?o/z» ;l

[ (o-1z- 2 )dr /(Mz+a )d2 - 4 “‘% |

- Hlo-2)Yo-A)s (oY "= 4055 - 5/1/ ‘A




